

4 Ashworth Street
 Linbro Park
 Johannesburg
 2090



4 Ashworth Street
 Linbro Park
 Johannesburg
 2090

Hein@lrsa.co.za

Liquor Runners Gauteng JHBNORTHB

012 001 7105
 Www.lrsa.co.za

GRV for Diageo South Africa - LRSA NR: 16767 (GRV)

Receiver: Sanette
Checker: Sanette **Receive Date:** 2025-04-07
Warehouse: SAB WITBANK **WarehouseRecv:** ZAGN
Sender Ref 1: **Sender Ref 2:** 658

SKU Code	Stock Description	Bin	Batch Number	QTY(Cases)	QTY(Units)
Stock Received					
797990	SMIRNOFF STORM (12 X 660ML) SAB	SA03112025		75	900
797990	SMIRNOFF STORM (12 X 660ML) SAB	SA03112025		75	900
797990	SMIRNOFF STORM (12 X 660ML) SAB	SA03112025		75	900
797990	SMIRNOFF STORM (12 X 660ML) SAB	SA03112025		75	900
797990	SMIRNOFF STORM (12 X 660ML) SAB	SA03112025		75	900
797990	SMIRNOFF STORM (12 X 660ML) SAB	SA03112025		75	900
797990	SMIRNOFF STORM (12 X 660ML) SAB	SA02112025		75	900
797990	SMIRNOFF STORM (12 X 660ML) SAB	SA02112025		75	900
797990	SMIRNOFF STORM (12 X 660ML) SAB	SA03112025		75	900
797990	SMIRNOFF STORM (12 X 660ML) SAB	SA02112025		75	900
797990	SMIRNOFF STORM (12 X 660ML) SAB	SA02112025		75	900
797990	SMIRNOFF STORM (12 X 660ML) SAB	SA02112025		75	900
797990	SMIRNOFF STORM (12 X 660ML) SAB	SA02112025		75	900
797990	SMIRNOFF STORM (12 X 660ML) SAB	SA02112025		75	900
797990	SMIRNOFF STORM (12 X 660ML) SAB	SA02112025		75	900
797990	SMIRNOFF STORM (12 X 660ML) SAB	SA02112025		75	900
797990	SMIRNOFF STORM (12 X 660ML) SAB	SA02112025		75	900
797990	SMIRNOFF STORM (12 X 660ML) SAB	SA03112025		75	900
797990	SMIRNOFF STORM (12 X 660ML) SAB	SA01112025		75	900
797990	SMIRNOFF STORM (12 X 660ML) SAB	SA02112025		75	900
797990	SMIRNOFF STORM (12 X 660ML) SAB	SA02112025		75	900
797990	SMIRNOFF STORM (12 X 660ML) SAB	SA03112025		75	900
797990	SMIRNOFF STORM (12 X 660ML) SAB	SA03112025		75	900
797990	SMIRNOFF STORM (12 X 660ML) SAB	SA02112025		75	900
797990	SMIRNOFF STORM (12 X 660ML) SAB	SA02112025		75	900
797990	SMIRNOFF STORM (12 X 660ML) SAB	SA01112025		75	900

Checked By:

Transport Company: _____

Receiver: JBK267FS

Checker: THEMBISILE

Driver Signature: _____

08/04/2025 07:07:56 AM

4 Ashworth Street
Linbro Park
Johannesburg
2090



4 Ashworth Street
Linbro Park
Johannesburg
2090

Hein@lrsa.co.za

Liquor Runners Gauteng JHBNORTHB

012 001 7105
Www.lrsa.co.za

GRV for Diageo South Africa - LRSA NR: 16767 (GRV)

Receiver: Sanette
Checker: Sanette
Warehouse: SAB WITBANK
Sender Ref 1:
Receive Date: 2025-04-07
WarehouseRecv: ZAGN
Sender Ref 2: 658

SKU Code	Stock Description	Bin	Batch Number	QTY(Cases)	QTY(Units)
797990	SMIRNOFF STORM (12 X 660ML) SAB	SA03112025		75	900
797990	SMIRNOFF STORM (12 X 660ML) SAB	SA03112025		75	900
797990	SMIRNOFF STORM (12 X 660ML) SAB	SA03112025		75	900
797990	SMIRNOFF STORM (12 X 660ML) SAB	SA03112025		75	900
797990	SMIRNOFF STORM (12 X 660ML) SAB	SA03112025		75	900
				2,250.00	27,000.00
			Total QTY Received	2,250.00	27,000.00

Checked By: _____

Transport Company: _____

08/04/2025 07:07:56 AM

Receiver: JBK267FS

Checker: THEMBISILE

Driver Signature: _____

DELIVERIES

<u>DRIVER NAME:</u>	Thunbisile
<u>TRUCK REGISTRATION:</u>	JBK 267 JS
<u>COMPANY:</u>	Liquor Runner
<u>INVOICE NUMBER:</u>	94082
<u>DATE:</u>	07-04-2025

COLLECTIONS

<u>DRIVER NAME:</u>	
<u>TRUCK REGISTRATION:</u>	
<u>COMPANY:</u>	
<u>INVOICE NUMBER:</u>	
<u>DATE:</u>	

BCP INTERDEPOT MOVEMENT NOTE

MOVEMENT NOTE NUMBER

Date: 07/04/25

Time: 08:04

SHIPMENT NO:

658

DELIVERY NUMBER:

REQ TRACKING NO:

SAB 455 F5

SAB nominated storage site located at:

FROM PLANT:

WITBARK

TO PLANT:

Address

SAB LEGAL
Angelique Barnes
072 312 3571

Address

DRIVER NAME:

THEMBISILE

CARRIER:

124 SRS F5

TRUCK PD ID:

TRUCK REG:

0419

TRAILER 1:
TRAILER 2:

MATERIAL NUMBER	MATERIAL DESCRIPTION	FULL PALLETS	SPLIT CASES ON PALLETS	TOTAL CASES	BIN NUMBER	BEST BEFORE DATE
94082	STORM 665 CASE	30	2250	2250		
	START OFF CASE					
	FINISH OFF CASE					
	START OFF CASE					
	FINISH OFF CASE					
	START OFF CASE					
	FINISH OFF CASE					
	TOTALS					

SEAL NUMBERS	
--------------	--

ISSUING PLANT	CHECKER OPERATOR	DRIVER	RECEIVING PLANT	CHECKER OPERATOR
NAME	PHUSAK		NAME	Shiny
SIGNATURE			SIGNATURE	